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ABM COLLEGE, JAMSHEDPUR

Time : 1.5 hrs.Full Marks : 100

ACCOUNTANCY
XI - INTERMEDIATE  (I.Com, 1st  year)  INTERNAL  EXAM, 2020

INSTRUCTION (funsZ'k)

* This question Paper Contains 50 multiple choice question.  bl iz'uokyh esa 50 cLrqfu"B iz'u fn,
xb gSA

* Each question carry 2 marks.  izR;sd iz'u dh vf/kekurk nks vad dh gSA

1) iqLrikyu ds tUenkrk gS (Father of Book-Keeping is)

a) dkVZj (Carter) b) Likblj vkSj isxyj (Spicer and Pegler)

c) ywdkl isfl;ksyh (Luccas Pacioli) d) buesa ls dksbZ ugha (Luccas Pacioli)

2) fuEu esa ls dkSu lk pkyw nkf;Ro gS\ (Which of the following is current liability?)

a) iwth (Capital) b) ysunsu (Creditors)

c) nsunkj (Debtor) d) Hkwfe (Land)

3) tc dksbZ O;kikjh udn eky csprk gS rks cg xzkgd dks nsrk gS (When a trader sells goods on cash, he
gives to customer)
a) uke i= (Debit Note) b) teki= (Credit note)

c) psd (Cheque) d) dS'k eseks (Cash Memo)

4) fuEufyf[kr esa ls lgh lehdj.k pqfu, (Select the correct equation from the following)
Asset = Liabilities + Capital

a) 2,00,000 = 1,50,000 + 1,50,000

b) 5,25,000 = 2,12,500 + 3,12,500

c) 3,00,000 = 1,75,000 + 69,000

d) 4,70,000 = 2,50,000 + 2,25,000

5) ukeek= [kkrs lEcfU/kr gSaA (Nominal Accounts are related to : )

a) lEifÙk;ks ,oa nkf;Ro (Assets & Liabilities) b) nsunkj ,oa ysunkj  (Debtors and Creditors)

c) [kpksZ] gkfu;ksa] vk; vkSj ykHk (Expenses, Losses, Income & profit)

d) iwath ,oa vkgj.k (Capital & Draving)

6) vnÙk osru gS (Outstanding salary is a )

a) okLrfod [kkrk (Assets & Liabilities) b) nsunkj ,oa ysunkj (Personal A/c)

c) ukeek= [kkrk (Nominal A/cs) d) buesa ls dksbZ ugha (None of these)

7) ysu&nsuksa dh la{khIr O;k[;k dks dgrs gS (A brief explanation of the transaction is called)

a) laf{kIrhdj.k (Summarising) b) fooj.k (Particulars)

c) Li"Vhdj.k (Narration) d) lwpuk (Information)

8) dfYirk dks fd;k x;k udn foØ; MsfcV fd;k tk,xk (Sales of goods to Kalpita for cash should be
debited to)
a) jksdM+ [kkrk esa (Cash A/c) b) foØ; [kkrk esa (Sales A/c)

c) vkgj.k [kkrk esa (Draving A/c) d) dfYirk ds [kkrk esa (Kalpita's A/c.)

9) e'khu yxkus ds udn etnwjh nh (Paid cash as wages on installation of a machine)
a) Machine A/c ..... Dr,          To Cash A/c.... b) Wages A/c .....   Dr,    To Cash A/c....
c) Cash A/c....       Dr ,          To Machine d) buess ls dksbZ ugha (None of these)
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10) jksdM+ ogh gSA (Cash Book is)

a) ,d [kkrk (An Account) b) ,d lgk;d iqLrd (A subsider book)

c) A vkSj  B nksuksa (A and B both) d) buess ls dksbZ ugha (None of these)

11) rhu [kkus okyh jksdM+ cgh esa NwV dk ys[kk fd;k tkrk gS (The discount column in triple column cash book records)

a) O;kikfjd NwV (Trade discount) b) udn NwV (Cash discount)

c) ekSleh NwV (Seasonal discount) d) buess ls dksbZ ugha (None of these)

12) m/kkj ij LFkk;h lEifÙk;ksa dk Øe vfHkysf[kr fd;k tkrk (Purchase of fixed assets on credit is recorded in)

a) Ø; cgha (Purchase Book) b) jksdM+ cgha (Cash Book)

c) eq[; jkstukepk (Journal proper) d) foØ; cgha (Sales Book)

13) O;kikfjd eky dh m/kkj fcØh dh fy[kk tkrk gS (The credit sales of goods in trade are recorded in the)

a) Ø; cgha esa (Purchase Book) b) jksdM+ cgha esa (Cash Book)

c) foØ; cgha (Sales Book) d) Ø; okilh cgha esa (Purchases Return Book)

14) jksdM+ cgh ds vuqlkj vuqdwy 'ks"k dk vk'k; gS (Favourable balance as per cash book means)

a) jksdM+ cgha esa cSad [kkrs esa uke 'ks"k (Debit balance in the bank column of the cash book)

b) ikl cqd ds uke 'ks"k (Debit balance in the pass book)

c) jksdM+ cgha esa 'ksdM+ [kkrs esa tek 'ks"k (Credit balance in the bank column of the cash book)

d) buess ls dksbZ ugha (None of these)

15) ikl cqd ds vuqlkj 'ks"k :- 20]000] :- 4000 xzkgd }kjk cSad esa lh/ks tek fd;k x;k rks] jksdM+ cgh ds
vuqlkj 'ks"k gSA (Balance as per pass book is Rs. 20000, Rs. 4000 were directly depoited by a customer
into bank. Then the balance as per cash book is:)

a) Rs. 18,000 b) Rs. 20,000
c) Rs. 16,000 d) Rs. 24,000

16) ;fn vki jksdM+ cgh ds MsfcV 'ks"k dks ysdj pyrs gSA rks vof/k ds nkSjku fuxZfer fd;s x;s] fdUrq izLrqr
u fd;s x;s cSadksa dks (If you start with debit balance as per cash book, cheque issued but not presented
within the period should be )
a) tksM+k tkuk pkfg, (Added) b) ?kVk;k tkuk pkfg, (Deduted)

c) le;ksftr djus dh vko';drk ugha (Not required  to be adjusted)

d) buess ls dksbZ ugha (None of these)

17) ryiV cukus ds mís'; gSa (Objects of preparing trial balance is)

a) vfUre [kkrk cukuk (Preparation of Final Accounts)

b) [kkrkcfg;ksa dh 'kq)rk dh tkudkjh izkIr djuk (Knowing of accuracy of accounts)

c) (a) vkSj (b) nksuksa (Both (a) and (b) ) d) buess ls dksbZ ugha (None of these)

18) v'kqf);k¡ fdrus izdkj dh gksrh gSa (How Many kinds of Errors)

a) ,di{kh; v'kqf);k¡ (One sided errors) b) f}i{kh; v'kqf);k¡ (Two sided errors)

c) (a) vkSj (b) nksuksa (Both (a) and (b) ) d) f=i{kh; v'kqf);k¡ (Two sided errors)

19) ryiV fdlls cuk;k tkrk gSa ( A Trial balance is perpared on the basis of)

a) [kkrk cgh (Ledger) b) lgk;d iqLrdksa (Subsidiary Books)

c) jksdM+ (Cash book ) d) buess ls dksbZ ugha (None of these)

20) ;fn eksgu dks : 5800 dk eky cspk ijUrq foØ; cgh esa : 8500 fy[k fn;k x;k rks ;g dgyk,xh
( If goods sold for Rs. 5800 to Mohan is recorded as Rs. 8500 in sales book, it will be called)
a) Hkwy dh v'kqf) (Error of omission) b) fl)kUr dh v'kqf) (Error of principal)

c) fglkc dh v'kqf) (Error of commission) d) {kfriwjd v'kqf) (Compensating error)
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21) gªkl---- dh izfØ;k gS ( Depreciation is the process of)

a) lEifÙk ds ewY;kadu (Valueation of Assets)

b) lEifÙk;ksa dh ykxr dks mlds mi;ksxh thou esa ckVus (Allocation of cost of assets to its usefull life)

c) lEifÙk;ksa ds lR;kiu (Verification of assets)

d) lEifÙk ds ewY; dks ?kVkus (Decreasing the value of assets)

22) fdl fof/k ds vUrxZr nj fLFkj jgrh gS tcfd gªkl dh jkf'k izfro"kZ ?kVrh tkrh gS\ ( Under which
method rate remains constant whereas the amount of depreciation goes on decreasing from year to year?)
a) ljyjs[kk i)fr  (Annuity Method) b) Øekxr gªkl i)fr (Wrotten down value method)

c) okf"kZdh i)fr (Annuity Method) d) buess ls dksbZ ugha (None of these)

23) fuEu esa ls gªkl ds dkj.k gSa \(Causes of depreciation?)

a) f?klkoV  (Wear & Tear) b) vizpyu (Obsoleseence)

c) fjDVhdj.k (Depetion) d)  buess ls lHkh (All of these)

24) gªkl gS \ ( Depreciation is a)

a) O;fDrxr [krk  (Personal A/c) b) OkLrfod [kkrk (Real A/c)

c) ukeek=k [kkrk (Nominal A/c) d) lEifÙk [kkrk (Asset A/c.)

25) gªkl ugha yxk;k tkrk gS \ ( Deprecoation is not changed on?)

a) e'khujh (Machinary) b) eky (Goods)

c) [;kfr (Goodwill) d) QuhZpj (Furniture)

26) u, vkfo"dkj ds dkj.k iqjkuh e'khujh dk csdkj gks tkuk dgykrk gS \ (Discarding the old machinery due
to new invention is called)

a) vizpyu (Obsolescence) b) VwV&QwV (Wear and Tear)

c) vo{k; (Depletion) d) ifj'kks/ku (Amortisation)

27) lap; cuk;k tkrk gS \ (Reserve is created from)

a) ykHkksa ls  (Profit) b) gkfu;ks ls (Losses)

c) lEifÙk;ks ls (Assets) d) nkf;Roksa ls (Liabilities)

28) iwathxr lap; cuk;k tkrk gS \ (Capital Reserve is created)

a) LFkk;h lEifÙk;ksa dh fcØh ij ykHk ls  (Out of profit on sale of fixed assets )

b) LFkk;h lEifÙk;ksa ds iqueZY;kadu ls ykHk ls  (Out of profits on revaluation of fixed assets)

c) va'kks ds fuxZeu ij izkIr izhfe;e ls (Out of primium received on issue of shares)

d) mijksDr lHkh (All of the above)

29) lap; dk fuekZ.k fd;k tkrk gS \ (Reserve is created)

a) yH;ka'k dh nj leku j[kus ds fy,  (To equalise the rate of dividend )

b) O;kolk; dh foÙkh; fLFkfr lqn<̀+ djus ds fy, (To strength the financial position of the business)

c) vKkr nkf;Roksa ,oa gkfu;ksa dh iwfrZ ds fy,  (To meet the unforeseen liabilities and losses)

d) mijksDr lHkh (All of the above)

30) fuEu fooj.kksa esa ls dkSu lk ̂ izko/kku* ls lEcfU/kr ugha gS \ (Which of the following statements is not
appropriate in relation to provision)
a) izko/kku ykHkksa ij izHkkj gS (Provision is a charge against profit)

b) izko/kku dk lt̀u Kkr nkf;Roks ds fy, fd;k tkrk gSA (Provision is created to meet known liabilities)

c) O;olk; dh foÙkh; fLFkfr dks etcwr djus ds fy, izko/kku fd;k tkrk gSA
(Provision is created for strengthening the financial position of business)

d) :f<+okfnrk ds fl)kUr ds fy, izko/kku djukA
(Creation of provision satisfies the principles of conervatism)
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31) fizI; fcy [kkrk gS (Bills receivable account is a)

a) ukeek= [kkrk (Nominal A/c) b) O;fDrxr [kkrk (Prersonal A/c)

c) okLrfod [kkrk (Real A/c) d) buesa ls dksbZ ugha (None of these)

32) ;fn fdlh fcy dh ns; frfFk lkoZtfud Nqêh dh gks rks bldh ns; frfFk gksxh
(If the due date of a bill is a public holiday, them its due date will be)
a) vxys fnu (Following day) b)  fuNys fnu (Preceding day)

c) mlh fnu (Same day) d) ,d ekg ckn (One month later)

33) fcy Lohdkj djus okys dks dgk tkrk gS (Acceptor of the bill is called)

a) ys[kd (Drawer) b)  LohdrkZ (Drawee)

c) izkIrdrkZ (Payee) d) cspkudrkZ (Endorser)

34) fcfue; fcy gS (A bill of exchange is)

a) ,d izkFkZuk (A request) b)  ,d izfr{kk (A promise)

c) ,d vkns'k (An order) d)  buesa ls dksbZ ugha (None of these)

35) A us B  dks :- 600000 dk eky cspkA vk/kh jk'kh udn izkIr dh tk,xh rFkk 'ks"k ds fy, izkIr fcy fdl
jkf'k ds fy, A dks B  ij fcy fy[kuk pkfg, (A sold a goods to B for Rs. 6,00,000. One half of the amount
will be received in cash and balance in bills receiveable. For what amount A should draw the bill on B.)
a) Rs. 3,00,000 b)  Rs. 6,00,000
c) Rs. 2,00,000 d) Rs. 2,40,000

36) mpUrh [kkrk gS (Suspense A/c is a)

a) ukeek= [kkrk (Nominal A/c) b) okLrfod [kkrk (Real A/c)

c) O;fDrxr [kkrk (Prersonal A/c) d) buesa ls dksbZ ugha (None of these)

37) eky :- 900 esa cspk x;k ijUrq foØ; [kkrs esa jkf'k :- 1080 fy[kh xbZA lq/kkj djus ij] mpUrh [kkrk dks
(The goods sold for Rs. 900 but the amount was entered in the sales A/c as Rs. 1080. On rectification,
suspense A/c. will be) :
a) :-180 ls MsfcV fd;k tk,xk  (Debited by Rs. 180)

b) :-180 ls ØsfMV fd;k tk,xk  (Credited by Rs. 180)

c) :-1080 ls MsfcV fd;k tk,xk  (Debited by Rs. 1080)

d) :-1080 ls ØsfMV fd;k tk,xk  (Credited by Rs. 1080)

38) lYyw dks :- 10]000 ds m/kkj foØ; dks Ø; cgh esa fy[k fn;k x;kA lq/kkj ds fy, mfpr izfof"V
fuEufyf[kr gksxhA (Credit sales of Rs. 10,000 to Sallu was passed through purchase book. The proper
entry for rectification will be following.)

a) Sallu's A/c Dr  10,000
To sales A/c - 10,000

b) Sallu's A/c Dr  10,000
To Purchase A/c - 10,000

c) Sallu's A/c Dr  20,000
To sales A/c - 10,000
To Purchase A/c - 10,000

d) Purchase A/c Dr  10,000
To Sallu's  A/c - 10,000

39) ,d iqjkuh e'khu dh ejEer ij :- 2500 [kpZ fd, (Spent  on overhauling of an old machine Rs. 2500)

a) iw¡thxr O;; (Capital expenditure) b) vk;xr O;; (Revenue expenditure)

c) LFkfxr O;; (Deferred Revenue expenditure) d) buesa ls dksbZ ugha (None of these)
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40) Hkkjh Hkjde fo{kkiu O;; dks ekuk tkrk gS (Heavy advertisement expense is treated as)

a) LFkfxr vk;xr O;; (Deferred Revenue Expenditure)

b) vk;xr O;; (Revenue expenditure) c) iw¡thxr O;; (Capital expenditure)

d) buesa ls dksbZ ugha (None of these)

41) ,d frfFk fo'ks"k ij lHkh lEifÙk;ksa o ns;rkvksa dk lkjka'k gS (.... is the summary of all assets and liabilities on
a particular date)

a) ryiV (Trial balance) b) ykHk&gkfu [kkrk (Profit & Loss A/c)

c) vkfFkZd fpêk (Balance Sheet) d) jksdM+ izokg fooj.k (Cash Flow statement)

42) ;fn ryiV esa vfUre jgfr;k fn;k gks rks bls fn[kk;k tk,sxk (If closing stock appears in the trial balance
then it will be shown in)

a) O;kikfjd [kkrs esa (Trading A/c.)     b)   ykHk&gkfu [kkrs esa (Profit & Loss A/c)

c) vkfFkZd fpêk esa  (Balance Sheet)   d) ykHk&gkfu fofu;kstu [kkrs esa (Profit and loss appropriation A/c)

43) O;kikj [kkrk ------- Kkr djus ds fy, cuk;k tkrk gSA (Trading A/c is prepared to find out)

a) ldy ykHk ;k ldy gkfu (Gross Profit or Gross loss) b) 'kq) ykHk ;k 'kq) gkfu (Net Profit or Net loss)

c) O;olk; dh foÙkh; fLFkfr  (Financial Positing of business)

d) mi;ZqDr lHkh (All of these)

44) etnwjh vkSj osru dks MsfoV fd;k tkrk gSA (Wages and salary is debited to)

a) O;kikfjd [kkrs esa (Trading A/c) b) ykHk&gkfu [kkrs esa (Profit & Loss A/c)

c) vkfFkZd fpêk esa  (Balance Sheet) d) buesa ls dksbZ ugha (None of these)

45) vfUre [kkrs rS;kj fd, tkrs gS (Final Accounts ae prepared)

a) dSys.Mj o"kZ ds vUr esa  (At the end of calender year)

b) ys[kkafdr vof/k ds vUr esa (At the end of accounting period)

c) dj&fu/kkZj.k o"kZ ds vUr esa (At the end of assessmentYear)

d) izR;sd fnokyh ij  (On Every diwali)

46) vfkFkZd fpêk esa iwoZnÙk fdjk;k dks fn[kk;k tkrk gS (Period Rent is shown in the balance sheet)

a) pkyw lEifÙk ds :i esa (Current Asset) b) pkyw nkf;Ro ds :i esa (Current Liability)

c) LFkk;h lEifÙk ds :i esa (Fixed Assets) d) vk; ds :i esa (Income)

47) ys[kkadu o"kZ dh vkjfEHkd iwath dk fu/kkZj.k (The capital in the beginning of the accounting year is
ascertained by preparing)

a) dwy nsunkj [kkrk (Total Debtor A/c) b) dqy ysunkj [kkrk (Total Creditors A/c)

c) jksdM+ [kkrk (Cash A/c) d) izkjafHkd fLFkfr fooj.k (Opeing statement of affairs)

48) ,d O;kikjh dh izkjafHkd iwath :- 200]000 gS vkSj vfUre iwath :-203]000 gS mldk 'kq) ykHk :- 5000 gSA
o"kZ ds nkSjku mldk vkgj.k Fkk  (A Trader has opening capital of  R. 200,000 and closing capital of Rs.
203,000.  His net profit is Rs. 5000. His drawing during the year were.)
a) Rs. 8000                 b)  Rs. 3000                 c) Rs. 2000               d) Rs. 1000

49) fuEufyf[kr esa ls dkSu lk buiqV midj.k ugha gS (Which of the following is not in put device)

a) dh&cksMZ (Key board) b) eSXusfVd fMLd (Magnetic Disc)

c) ekWuhVj (Monitor) d) ¶ykWih fMLd (Floppy Disc)

50) ysu&nsu dk vFkZ gS (Transaction means)

a) eky ,oa lsokvksa dk fofue; (Exchange of goods and service)

b) eky ,oa lsokvksa dk eqnzk esa fofue; (Exchange of goods and service in terms of money)

c) eky ,oa eqnzk esa fofue; (Exchange of goods and money)

d) dsoy eqnzk esa fofue; (Exchange of money only)


